AL\

>

o{ = drs count
~FO&(.‘\"(N .



,Pd\ii\ﬁ EVQlual'lﬁj‘;
(5[,,': N,?‘\/‘,% ’(Pa\\o-wﬁ) gl’mLu\J

N U

= C(1, ‘WCC)) v S v

cott of ‘)z,ng-& (_' discoun bed Cogl
& of roc) of Loqramec

gd\\r@ W\ﬁ «&c\[Aaf:U‘uw k @ejf Qj\ﬁ
9 <



p\|3w..7_
J n M
U -
M F 9 -
AYe
\)
Lo}

> o
9 = = F
S - /=
oo
N o v - k]
S5 3 >N
A ~1d -\n -
+ S L
v "
b

1)
:\ :m v .
> S



Op\i'm\c, ( Ll"g O<e%l7 i

Com\fm :

B @@
v
O—O @*@*

Cogl‘ 31("\ — C(,.L;J)*"(>< (do

—

ok Te§isy, - ma[cir ] f
b J A /0—/
Y, 2 smallest of bho
wlwwaf
Tt ’{_:V, G‘:\'\ma‘; Q'U&JRM- muhz .WC\\ _.,‘W




J
N

L 29 z 2%
c(\,% z L o9e - S
c(lhz4°(‘03 * =5 ) 33'
9 + <
o L Yy I + L9 - ¢
c)) ¥ XY = 4 w5 > - %3
c(22) » LY = 2 + 1.2 _ s\ v
C%3) 3 &L " :173 R 2
(L) \03 - - TEY N
A +d Y, =
y =
_ L+ Ly 10
i) +<Y = 6 +xTE =
C 9 s ._q: S
A I
C = -
Cj%)4ec\93 _3_,45%3 s &£
ia"')'\'e( Yy = Z—l’ - J_i.\q = 1
) 43
cy) + %Y, = | *3? S S
cha) + qy -+ 3 +4 5 = 38
ct,%) YRy, oz S +x1Z = 2=
MR N e AL R







1
cly) + XY, = 3+%0% =%
cfc(:.‘:) rRy, s Segt =7
()4&\93= 24 %% =Y
ciy .

o ) + oL Yy = [ + 3{% = s 2
¢ 3 oL L.Z *¥3
C(Q»"b) B 4 v 2% -
R + 2..* = W >
Cl2?d) » Ly = S L.3 s
s 3 3 2
) + o Uy = K[LX + LY =
~—— CY T8
) +=%Y, = 6 v+ %4 < B
c(3,2) *Ay s A
. . [+ X4 = 3 %
cld + Xy =z = 4l s 9
c(Fu N T _ 4
°)+°( ‘ot., = Z_',. L .\ = 4
— v2n 3/g
cr) + %Y, = | +3-% = M
c?) + Qy s+ 3 +L1-4 SO
chY + 2y = S + LI = 3h
A
(,,,'-I) + ol \oq = D ‘li‘/\: =3 ‘7]?







cli) +°(‘ﬁ] 3 ?,a-%.-l ::L‘“

C(,l,‘b) -\-Q\sk 3 5-\-"‘;'"-' = 7 '

ChY sy = 24,43 :vn

clhw) +oL Yy, = | + L2 . 2 w% h CUQRG‘\){
clr) +%<XY, = 4 + 32 - S5

C(,Z,’b) + Q\a‘. s 2 1 _:],: ll.. - q_’ o PUL) C\]

( = Lo

il i | o

— "' S+3ia Gk 0PYIMAL
k) +%Y%, = 6 +% .2 s 7

°‘3°"3*~l‘s._° [+ X 4 = I ¥

Cci.%)-'l»e(\os = 3 « 45.3 S QI’L.

UM+ 9y = 2, 1.5 =S

clr) -\-°(\Ol s | +35-2% S *

cr) vy « 3+ 54 = S

chy » 2y = S +L'8 = 1j

Ch) v+l iy, = D 2 12 <= ¢







